
  

Calculer :

1,4+12,51+2,6



  

Correction :

1,4+12,51+2,6
1,4+2,6+12,51

4+12,51
16,51



  

3,8 × 10   

Calculer : 



  

Correction :

3,8 × 10 = 38  



  

3,8 × 0,1   

Calculer : 



  

Correction :

3,8 × 0,1 = 0,38  



  

    Pierre achète 100 objets
identiques à 1,20 € pièce.

    Combien dépense-t-il ?



  

Correction :

    Pierre dépense 120 € .

1,20 × 100 = 120



  

Quelle est l'abscisse du point A ?



  

Correction :

L'abscisse du point A est 3,07.

Un centième
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